ESL Kids Worid: Fiving TOYS

Complete the worksheet. Cut out parts A and B. Match up the sentences.

Balloons can fly because they = float.

Part A Part B
‘Balloons can fly because | drift and float |
_______________________________ they ]
Planes can fly because soar and glide
______________________________ they
Boomerangs can fly Spin quickly.
___________________ because they
Bubbles can fly because float
_______________________________ they
Frisbees can fly because spin and glide
______________________________ they
Kites can fly because glide and drift
_______________________________ they
Toy helicopters can fly glide and spin.
. becausethey
Paper planes can fly | glide.
___________________ because they
Balls can fly because spin round
they

________________________________________________________________________________________________________________________________________________________
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